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of A o A % x
B 2B HE HNE = T -
2000 (2 A42612 & A109,541 X 0 2
JNEB = 49,383,280  49,535,442|  A152,153| [ 0 = 0 0
2400 (2 42612 & A109,541 X| 0 =
ZEH QX o ALEI R b 49,383,289  49,535,442| 152,153 [D| 0 = 0 B 0
2420 (2 A42612 & A109,541 X 0 2
X1 & ARSI OH 2t 49,383,280  49,535,442|  A152,153| [ 0 = 0 0
2421 (2 A42612 & A53,106 X 0 =
== 4,125,924 4,221,642 ~95,718  [DI 0 = 0 B 0
100
2 A0l A 88,400 92,700 A4,300
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ORMASARIN HEE BAHT AbS4
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200 (2 A42612 & A48,806 Xl 0
JE=TTPN; 4,037,524 4,128,942 ~91,418  [DI 0 = 0 0
210 (2 42612 & A21,308 X 0 =
2EANY 237,284 301,202 ~63,918 [Dl 0 = 0 0
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220
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201
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301
SIEIEPNE 1,258 6,200 4,942
1,258 6,200 N4,942|12 DIEHE &S
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1,258,0008 - 4,200,000 = N2,942
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= A2,000
200
AR O] &t 0 50,000 A50,000
220
KA A S 0 50,000 50,000
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o1 I g b 0 50,000 A50,000
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2t = Il 3 = 2
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